Elevators

Elevator Name Test Elevator 1
Owner " Kto-to

. Adress »  Gde-to
Elevator representative Vasya
i Date : 2023-04-08 |
l Sign J

Inspection organization

Inspector Name i Surveyor:) |

Date of inspection 2023-04-08

Sign

Inspection Report N2

Information about Warehouse N2 1

Length = 50 (m)

Width = 20 (m)

Height = 10 (m)

Warehouse floor is flat, without slope.

Cargo name

Wheat

Cargo Test Weight

740 (g/L)

o

Volume: 1831.132 (m?)
Weight: 1355.038 (MT)

--- Details ---

Information about Pile N2 1

Total Height = 5 (m)

Pile Height = 5 (m)

Base Height = 0 (m)

Base Length = 15 (m)

Base Width = 20 (m)

Conture coeff. = 1.753

Top Length = 8 (m)

Top Width = 2.84 (m)

Volume coeff. = 0.31

Location X = 7.5 (m)

LocationY = 10 (m)

Orientation (angle) = 0 (deg)

Volume (excluding intersections) = 738.817 (m?®)

Weight (excluding intersections) = 546.725 (MT)
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Information about Pile N2 2

Total Height = 2 (m)

Pile Height = 2 (m)

Base Height = 0 (m)

Base Length = 4 (m)

Base Width = 7 (m)

Conture coeff. = 0.83888

Top Length = 2 (m)

Top Width = 2 (m)

Volume coeff. = 0.5

Location X = 38.05 (m)

LocationY = 4.2 (m)

Orientation (angle) = 23 (deg)

Volume (excluding intersections) = 24.524 (m?)

Weight (excluding intersections) = 18.148 (MT)



http://avcc.sytes.net/elevators/

Information about Pile N2 3

Total Height = 3 (m)

Pile Height = 3 (m)

Base Height = 0 (m)

Base Length = 10 (m)

Base Width = 10 (m)

Conture coeff. = 0.83888

Top Length = 3 (m)

Top Width = 3 (m)

Volume coeff. = 0.5

Location X = 19 (m)

Location Y = 8.12 (m)

Orientation (angle) = 0 (deg)

Volume (excluding intersections) = 116.859 (m?)

Weight (excluding intersections) = 86.476 (MT)

Information about Pile N2 4

Total Height = 5 (m)

Pile Height = 5 (m)

Base Height = 0 (m)

Base Length = 10 (m)

Base Width = 10 (m)

Conture coeff. = 0.83888

Top Length = 2 (m)

Top Width = 2 (m)

Volume coeff. = 0.5

Location X = 25 (m)

LocationY = 5.8 (m)

Orientation (angle) = 0 (deg)

Volume (excluding intersections) = 169.934 (m?®)

Weight (excluding intersections) = 125.751 (MT)

Information about Pile N2 5

Total Height = 3 (m)

Pile Height = 3 (m)

Base Height = 0 (m)

Base Length = 10 (m)

Base Width = 10 (m)

Conture coeff. = 0.83888

Top Length = 3 (m)

Top Width = 3 (m)

Volume coeff. = 0.5

Location X = 31.7 (m)

Location Y = 5.85 (m)

Orientation (angle) = 0 (deg)

Volume (excluding intersections) = 116.859 (m?)

Weight (excluding intersections) = 86.476 (MT)

Information about Pile N2 6

Total Height = 7 (m)

Pile Height = 7 (m)

Base Height = 0 (m)

Base Length = 15.31 (m)

Base Width = 14.08 (m)

Conture coeff. = 1.7

Top Length = 1.5 (m)

Top Width = 0.8 (m)

Volume coeff. = 0.16

Location X = 40.35 (m)

Location Y = 10.55 (m)

Orientation (angle) = 28 (deg)

Volume (excluding intersections) = 541.505 (m?)

Weight (excluding intersections) = 400.714 (MT)

Information about Pile N2 7

Total Height = 5 (m)

Pile Height = 5 (m)

Base Height = 0 (m)

Base Length = 10 (m)

Base Width = 10 (m)

Conture coeff. = 0.83888

Top Length = 3 (m)

Top Width = 3 (m)

Volume coeff. = 0.55

Location X = 32.4 (m)

Location Y = 14.4 (m)

Orientation (angle) = 0 (deg)

Volume (excluding intersections) = 195.96 (m?)

Weight (excluding intersections) = 145.01 (MT)




